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N.B.: (1) Question No. 1 is compulsory,
(2)Attempt any three questions out of remaining five,
(3)Figures to the right indicate full marks,
(4)Assume suitable data if required and mentm
Q.1 Solve any four

BN, '
a) Explain the need of modulation in commun c\éf N systel
b) Explain narrow band and wideband FM. - AR
¢) What do you mean by double spottmgm radl T
d) List the advantages and dxsadvantages of. DlgltaT CBmm“ilm
¢) Write a note on aliasing error and zﬁ;ecturs eﬂ‘ect.x o 4‘_-"::- i

& G .‘\7.\-";\'7
Q.2 (a) Explain the different types ofmdse*mwmhuﬁ a\ti‘qn‘“~ "k (10)
F DS
eqﬁahamg (10)

By

Q.3 (a) With the help of su1t,able diagrms\cxp!am gcherat)op anc{iiat\ceﬁ@n-ﬁf PWM signal. (10)

(b) Draw and explaxh\DeltthoduiatrQn trausqutterﬁlld {cceivat:{ S

A

Q.4 (a) Explain w1th$leek d:‘agr'anyau thémmiugﬁn&%ﬁqme radio receiver.  (10)
(b)What is muft@ex;ng@*Exp]am BDM in detm{ :‘.;__ Y,

(10)

3nd‘det~-0non of HPM
b) Ehas‘qshlﬁ methednﬁAM geﬂemtlon (SSB)
wc}App]!éafmns\BfFM &

d) Sam phng Teshques
e) D.e‘la’yed AGC
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- SemV_ ~CRGS~ "In U“Ktuj’b’ &
Te-Extc Q.P. Code: 23103
06/0¢/ g ekrl

(3 Hours) . [Total Marks: 80]

N.B.: (1) Question No. 1 is compulsory.
2) Solve any three questions from the remaining five.
3) Figures to the right indicate full marks. S R : . :
(4)  Assume suitable data if necessary and mieliytié“pft:‘hfé'si'i‘mg:‘yi‘nfan‘swfeﬁ sheet.

Q.1 Attempt any 4 questions: e OOy & L [20]
(A) How does precision rectifier dlffer from con.ve Llonal ﬁat:tu‘jer‘7 SO G RS
(B) Ifthe input to the ideal comparator: ‘howqm the d(B)isa smusondaLSIgnal
of 8 volt peak to peak without:an DC‘c@n;pqnen themche : wh’ the'
cycle of the output of comparator‘ is

IOl ‘f‘}‘ati‘f:'é\lirrent of a voltage

© i ferive
to crrent converter with- “floating load, = ~ 5 $
(D) With the‘ﬁelp of a neat’ circ;uxt dlagram expiam any oneapplxcatlon of PLL 565.
(E) IRR? How. tameasure it practically? -
Q2 (A uare’.amttnang\uiar waveform generator usmg [10]

« gram of
\%;_opamps a;Ld exglam ltsﬂ(t)tjgng with, the»hefp~of waveforms. For variation in
Gl ufy oy e w‘hat 1skth.e ?nbdﬁ'lcatlon né’edéd inthe circuit.
* - With-the- help of 'é-funcﬁonal block diagram explain the working of voltage [10]
~regulator LM317 to give. anoutput voltage variable from 5 V to 10 V to handle

max1mum Toad: 0urrent of 500 mA

Q3. (A) *Draw a neaf«cn:cult dlagramr of a Wem bridge oscillator using opamp. Derive its [10]
o o iffrcquency ‘of oscillation.: What are the values of R and C if its frequency of

Ceta o oseillation 1s‘-’LkHzf2 '

B) ,DeS”lgn a voltage regulator usmg IC 723 to give Vo =3 V to 37 V and output [10]

current of 27 o (Y

‘:D ;gn a\secondklorder Butterworth high pass filter for cut off frequency of 1 [10]
‘kHz‘ and passiband gain of AF=2,

P.T.O.
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74163. The pin terminology and functionality of IC.M : 17416

Design a counter for counting a sequence 3, 4, 5, 6...
4(B).

®)

With the help of a ne
ave

working of a non-inver
Draw and ex
operation

A\

threshold levels. =
“Write short A
Voltage

IC 74

(A)
B
(A)
(B)
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